


SA: EB)|ED
B CHI|ETH(UNDIHE/AVHE)
cel: CEIIHTH (ol @)
S - - SRIEH) - MIRAR - BaS e e HImE2
ZE) |2 5,709,673 4,845,514 864,159
CEIEXF (L SSHE/LPHH) 5,628,958 4,772,164 856,794
SHIIExE 1,576,158 1,306,564 269,594
2N =24 362,600 359,300 3,300
201 k=2 362,600 359,300 3,300
02 SE=4H| 347,600 347,300 300
OUstI=AEXAIE e 23 347,600
03 &A=& 15,000 12,000 3,000
OdgElel, d8823 S M=l 15,000
SEAZONY 1,158,358 898,664 259,694
201 £Eh=gH| 495,858 535,314 A\39,456
01 AtR2t2|H 489,858 516,335 N2B, 477
Ogtt+=EZH] 150,394
Oo=2g=g 18,000
O=etl 22,464
Ogxt= 9,000
OH FRAIM 22 200,000
Oy E2& =) 90,000
02 E5=2gH 6,000 18,979 212,979
Oss2= € MA 6,000
202 04l 31,500 32,950 1,450
01 =LHAOLI 31,500 32,950 1,450
O&F J2lxFYR =4 31,500
203 gF=&| 31,000 30,400 600
03 AIBF=AH 2 F&I| 31,000 30,400 600
O=d FQAIRFA 253 izl S 31,000
207 A-1HE] 400,000 100,000 300,000
01 2= 400,000 100,000 300,000
ON4xt ae SEH= =€ 300,000
TE FRAH 23 g2Ed 100,000
306 E= 200,000 200,000 0
01 £E¢= 200,000 200,000 0
Ost=Agdd-a £ 200,000
eSSlbolf= = 28,950 28,600 350
201 fEh=2 & 7,650 8,000 350
01 At22teld] 7,650 8,000 350
Oget+=ZH| 7,650
202 O 5,400 5,000 400
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2N RSN
M HMUSIHSIINAS(NS/HN - MHNS)
Ol LBt AIAX|A (& A&)
SA - FM S (BH) - HRAY - BES 0l &b e HImS2
05 =822 15,077,712 14,144,774 932,938
OHEUE23H| XI& 7,665,230
0 12| 4,930,993
o Z&XAH| 1,503,800
o Al&=tEH| 735,000
o ZNHEFRHI 115,000
o ¥z XA 380,437
odaitiet23y| XI& 7,412,482
o Cl24H| 4,076,332
o ZAXAH| 960,650
o AMl&=t=Eh| 1,105,500
o S NHEF I 890,000
o Zstzg K& 380,000
202 Odb| 2,700 2,800 A100
01 =2LHOHI 2,700 2,800 A100
CEE 2ZXA ARFA 2,700
203 HRF=&H| 1,200 1,100 100
03 AR FRIHR2FEIH| 1,200 1,100 100
OSEie 2EXH ARFE 2HE3| 1,200
207 AOHEH| 100,000 0 100,000
01 ARESH| 100,000 0 100,000
OSE e Saleor 8 AREA 100,000
EYNE=PAPNEE! 107,700 248,000 140,300
201 Le2ZH| 2,700 7,000 24,300
01 AtR2elt| 2,700 7,000 24,300
Oglet=2| 2,700
308 AXIEXMSOIA 105,000 240,000 A135,000
10 I 2SOCHSHE A X LAEAIS Y] 105,000 240,000 A135,000
Otistd stxt=a Ol KA 105,000
PRSI RSN D)L= 3,107,800 2,926,700 181,100
SHSAL 2R 2,497,500 2,312,100 185,400
202 0441 6,300 11,000 A4, 700
01 =W 6,300 11,000 24,700
O HeA RF2A 6,300
203 HRF=&H| 1,200 1,100 100
03 AIBFRIHRFXIY| 1,200 1,100 100
OEYsSiAt HRFA 2HE 3] 1,200
308 AXISHXMSOIA 2,490,000 2,300,000 190,000
10 S| 2SO0 A EAEAIE | 2,490,000 2,300,000 190,000
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el 1= (erel:el)
- _ - NEc
A - ZH - SRA(ZH) - MFAY - BES Ofl &b oK 01l ko HnS2
01 =LHoTH 7,200 8,000 800
S BEYS XX 7,200
203 YPFE| 3,000 3,000 0
04 BN Y2 ETL| 3,000 3,000 0
OnSA YL 29 3,000
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L olarEER
B AMIE 2(UHD
9 AL o

0
o
o
[0

S - I BR(S) - AIRAR - Bl Cva] il mE2t
Ollate gt 756,585, 137 720,759,402 35,825,735
ANTHE 2 (LBSIHE/NLHE - HEXY) 620,764,676 604,267,161 16,497,515
GlAFEARR] U B2IN R 618,175, 181 604,050,280 14,124,901
olatzE X 150,078 183,004 N32,926
201 k=2 125,078 150,404 N25,326
01 AtR2t2|H 109,578 87,498 22,080
OgEt=ZH] 94,678
O=etl 9,900
OlMEg=s2a f3s 5,000
02 5= 15,500 17,906 N2,406
OFR0 L2 ANAE KRAE+ 8,200
OUMEEXAAIAE SX 2= 7,300
202 04l 18,000 24,000 26,000
01 =LHOLI 18,000 24,000 26,000
Ottty gRFa 18,000
203 g2 =& 7,000 8,600 A1,600
03 AIZRF=AIHR Y| 7,000 8,600 1,600
OXZHE &5 & ALY 28 & 7,000
22N AY 23 40,053 40,053 0
308 AXIEHISOIE 40,053 40,053 0
10 SIS0t E LS ASAIZ I 40,053 40,053 0
OXNLHE2ACIAIAE X2 40,063
A Aapetel 70,000 20,000 50,000
301 2 A= 20,000 0 20,000
12 JIEt2ei= 20,000 0 20,000
Oollate b= (el2kel) 20,000
303 Zal= 50,000 20,000 30,000
01 Z2al= 50,000 20,000 30,000
Ol et ut= 50,000
Y23 39,600 37,800 1,800
204 2R HH| 39,600 37,800 1,800
03 S =3I 39,600 37,800 1,800
Oulated =22 39,600
Sl AL XY 100,000 200,000 100,000
308 XHXIHHSOIA 100,000 200,000 100,000
01 AXHH B E LS 100,000 200,000 100,000
OE& ADHZ &l X~ 100,000
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ollatg gt

AFNE 2 (AUTIHT/ N LT - W)
el OlAEATE U BolE HE2S (cHel: @)
S - B C9(30) - MISAKY - B il &b e HImS2t
SEHAM X2 795,000 683,012 111,988
201 LEt2 2| 285,000 150,858 134,142
01 At2teld] 285,000 140,858 144,142
O=EHAIM =2 285,000
202 Ol 100,000 204,154 A104,154
01 =W Y| 100,000 204,154 A104,154
OSEAM XY =X 100,000
203 R=&H| 90,000 108,000 18,000
03 AIBZ=RIHRZ=AIH| 90,000 108,000 18,000
OSZEAIM =& 90,000
301 LB AS 20,000 20,000 0
09 SAtAHIEAZ 10,000 10,000 0
OZF AIBFX HO A AHI24 10,000
12 JIEt2 43 10,000 10,000 0
OTE ANHEFZX FHOA 24 10,000
405 THAEF SHI 300,000 200,000 100,000
01 XA =SS HSHI 300,000 200,000 100,000
OAMRE HIE 300,000
EAPSIMEI=, 616,980,450 602,886,411 14,094,039
308 AHXISHHM S0 616,980,450 602,886,411 14,094,039
04 Al - 2X2EWRZ 616,980,450 602,886,411 14,094,039
OAl? 23 NR2 616,980,450
FOIEAH 2 2,489,795 106, 181 2,383,614
O AH 2 X 314,350 73,000 241,350
201 LBH23| 90,650 60,000 30,650
01 AFR2elt] 25,650 20,000 5,650
Ogt==H| 7,470
Oo2g= 14,400
O=&tl 3,780
03 A2 ZH| 65,000 40,000 25,000
O=IZFAM & oottty 29 55,000
OFCEHNWMARR RIS 10,000
202 o4t 7,200 6,000 1,200
01 =LHOAHI 7,200 6,000 1,200
OFIEHAH SRF=E 7,200
203 HRF=&H| 4,000 7,000 A3,000
03 AIBZ=XARFAIH| 4,000 7,000 23,000
O AM SRF=E 4,000
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o=t 3,780
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202 Oid| 12,600 16,000 23,400
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203 R =&IH| 8,100 17,000 28,900

03 AIMF=AHR=EI| 8,100 17,000 28,900
O=vle yexd 8,100

HEFQI THE 2| 61,000 56,500 4,500

ME2e| 2FX& 61,000 56,500 4,500

201 Yore | 3,000 29,000 7,000

01 A= aebl 3,000 29,000 7,000
Oget==H| 21,420
O2g+& 10,800
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01 AtR2t2|H 18,702 20,780 2,078
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O=1=1:] 1,008
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[ 506,209
X 2EJ18F S S&H| DHXIR(ZE) 99 3,675 A2,746
= 482
[ 447
201 LEr2H| 99 3,675 A2, 746
= 482
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01 AF22t2I| 99 3,675 A2,746
OLURZ(ASTHEAIAL HBEOF 25HALY) 99
= 482
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XIS 2E0|8H 52| DAIXS(KH) 36,900 147,605 A110,705
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403 REXISHHISKH=20IH 36,900 147,605 A110,705
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01 XISH A= E X 36,900 147,605 A110,705
OAZ =5EH| B & HL2Lot 25AIY 36,900
= 36,900
HHHPAAL 2 490,582 626,500 A135,918
201 LEr2H| 10,000 10,000 0
02 2229 10,000 10,000 0
OAEZHISKIBI(HIAHAIAL SN SXIE4) 10,000
308 XHXIEHHISOI& 480,582 532,800 AB2,218
10 212 SOICHEFZ A= A ETAIIHI 480,582 532,800 NB2,218
OANTAZHEHSAAL SAES 233,003
OANGCH#E o HUMpA|AH XS24 198,039
O2-Uzt2MAIAE X84 49,540
MUEHEE 29X 15,180 16,700 A1,520
201 YBrH2AH| 4,680 5,200 A520
CEEE 4,680 5,200 A520
OLets=aH| 4,680
202 01t 9,000 10,000 A1,000
ENEE 9,000 10,000 A1,000
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203 HR=ZIH| 1,500 1,500 0
03 AIFEZIGREZY| 1,500 1,500 0
OMXETH AlRMEZ 1,500
OIF Ul AMHIA 25} 95,880 108,020 A12,140
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A - FE . S(B) - HRAIY - B 0l ot Sl Ao HlmZ2t

= 5,000
= 6,080

02 DIRIZAAEE 12,060 18,894 6,834
SnEER-ELInt=5] 12,060
= 6,080
= 6,080

HEEAEE)D| N 195,018 195,030 AT2
= 97,509
= 97,509

201 Lk y| 3,238 3,400 A162
= 1,619
= 1,619

01 AFR22lH] 3,238 3,400 A 162
OYetr2Y| 3,238
= 1,619
= 1,619

202 01t 2,132 2,132 0
= 1,066
= 1,066

01 =LHOIb] 2,132 2,132 0
OL-EENEE b 2,132
= 1,066
= 1,066

301 YPHBALS 189,648 189,498 150
= 94,824
= 94,84

01 NBIZEEZF2 189,648 189,498 150
O-CENEE b 189,648
=2 94,824
= 94,804

=P X 44,800 75,200 30,400
=2 22,400
= 22,400

201 Lk y| 43,536 74,200 30,664
=2 21,768
= 21,768

01 A= 22l 43,536 74,200 30,664
OZIPC L2 Al 43,536
= 21,768
= 21,768

202 01t 1,264 1,000 264
= 632
& 632

01 =LHOIH] 1,264 1,000 264
O PC Y2EA 1,264
= 632
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Shel: XELE = (el &)
S - - SRIEH) - MIRAR - BaS e e HImE2
[T = 532
FESAAAE 2Y 3,133,065 2,746,149 386,916
=HEESAY = T 537,586 536,100 1,486
308 XHXIHHISOIH 537,586 536,100 1,486
01 XM B E LS 537,586 536,100 1,486
OAlZ =2HEESNY oldz X3 537,586
HA 2OITHO] & R=(RIIEEXIY) 90,720 14,580 76,140
403 NRIHHSA=201H 90,720 14,580 76,140
01 HRIHHAZE X 90,720 14,580 76,140
O A 2L0ITIH0| EHFH A 90,720
SHAIAH 8 3= 361,800 343,430 18,370
401 AIZHIZL S0 149,800 10,000 139,800
01 Al£H] 149,800 10,000 139,800
Ogafaola HH|l DN&st & & A 139,800
OHIARE JEZSUANE 7F 10,000
405 RHaHE SHI 212,000 276,400 264,400
01 NI =ZF S| 212,000 276,400 A\64,400
OdEM= 12 AKX == WM 80,000
OB RHHAAAE == WX 132,000
ZESHMAAHE 2SR 1,892,959 1,652,039 240,920
201 k=& 1,881,739 1,639,739 242,000
01 At22teld] 33,122 24,720 8,402
OgEt+=ZH] 20,898
Oo=g=+d 1,350
Ogxt= 900
OZH3IYNAH 2E 22 9,974
02 SE=gH| 1,848,617 1,615,019 233,598
O332= % HAl 1,571,324
OAlZ ZHI=XIHI 277,293
202 O 9,720 10,800 21,080
01 =LHALI 9,720 10,800 /1,080
OZESH ME=H 9,720
203 SR &I 1,500 1,500 0
03 AIHF=AIHRFAY| 1,500 1,500 0
OFESA AT 1,500
KsE CCTV dEZMAIAE 2= 250,000 0 250,000
403 MHRIHSA=01A 250,000 0 250,000
01 MXIEHHMR=2E = 250,000 0 250,000
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752,045
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| ONBIZA 231 & 20 24 15,000

Y AtRl=A X1 242,720 270,376 N27,656

308 AXIEHHISOIH 242,720 270,376 A27,656

01 AXHHBHE LS 242,720 270,376 N27,6%
OAFRI AL Q1248 & EALE S| 242,720

ANZER NISSH A 9,550 9,600 A50

201 ZetEg| 5,000 5,000 0

01 At=2teld 5,000 0 5,000
ONGSHLH 435 5,000

202 04l 3,150 3,200 A50

01 2] 3,150 3,200 A50
OXNGSHZAL A NE 3,150

203 g2l 1,400 1,400 0

03 AIHF=AIHR =AY 1,400 1,400 0
OSHER AIH=A 1,400

SH A=2tel 21,000 30,000 29,000

201 £Eh=3gH| 21,000 30,000 29,000

01 At=2teld 21,000 30,000 29,000
OSH Xz 2te| Let=ZH| 21,000

ClolEt Jigt =8 A& 913,050 400,000 513,050

S30OI0IE g & 200l =4 913,050 400,000 513,050

201 £Eh=gH| 9,000 0 9,000

01 At=2teld] 9,000 0 9,000
OSSUI0IE & 20I01e ER2=X 9,000

202 O 4,050 0 4,050

01 =LHAHI 4,050 0 4,050
OSSUI0IE & 2HI0IE A2 K= 4,050

207 AN 900,000 400,000 500,000

02 & AHHEH] 900,000 400,000 500,000
O=SUI0IE & 2H0IH 238 715 600,000
Oy =4 300,000

A 2HIH(FE2SHS ) (OIEH/IIE 97,749 47,302 50,447

el 65,028 0 65,028

IS 2| 65,028 0 65,028

101 21244 65,028 0 65,028

03 RIHA=ZZ2 A2+ 65,028 0 65,028
OPCRXESR (EL22N ME Z2A) 65,028
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